
 

D–3256/BBCCT–109 P. T. O. 

No. of Printed Pages : 8 BBCCT–109 
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BBCCT-109 : METABOLISM OF 

CARBOHYDRATES AND LIPIDS  

Time : 3 Hours  Maximum Marks : 70 

Note : Attempt any five questions. All questions 

carry equal marks. 

1. (a) Explain the disorders associated with 

lipoprotein metabolism. 6 

 (b) Describe in detail the stages of 

cholesterol biosynthesis. 8 
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2. (a) Explain the synthesis of glycero-

phospholipids in E. coli. 7 

 (b) Describe the metabolic changes that 

takes place under well-fed state. 7 

3. (a) Describe the factors that account for 

high phosphoryl group transfer 

potential of ATP. 4 

 (b) Differentiate between spiral and  

cyclic pathway of metabolism with 

example. 5 

 (c) Explain the reduction of pyruvate to 

lactate under anaerobic conditions. 5 

4. (a) Illustrate Cori cycle and explain its 

significance. 7 

 (b) Describe glyoxylate pathway. 7 
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5. (a) Eplain short-term regulation of 

glycolysis and gluconeogenesis. 7 

 (b) Describe and draw the structure of 

glycogen. What are the advantages of 

having glycogen as branched storage 

polymer ? 7 

6. (a) How are major pathways of 

carbohydrate metabolism inter-

connected ? 7 

 (b) Describe CAM pathway. What is its 

significance ? 7 

7. (a) Elaborate the de novo biosynthesis of 

fatty acids. 10 

 (b) What is peroxisomal  -oxidation of fatty 

acids ?  4 
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8. (a) Explain  -oxidation of saturated fatty 

acid.  8 

 (b) (i) Write a note on utilization of 

ketone bodies. 4 

(ii) Name two conditions that result in 

ketosis. 2 
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 BBCCT–109 

ch- ,l-&lh- (vkWulZ) tSojlk;u 

(ch-,l-&lh-ch-lh-,p-) 

l=kar ijh{kk  

twu] 2025 

ch-ch-lh-lh-Vh-&109 % dkcksZgkbMªsV vkSj fyfiM dk 

mikip; 

le; % 3 ?k.Vs   vf/kdre vad % 70  

uksV % fdUgha ik¡p iz'uksa ds mÙkj nhft,A lHkh iz'uksa ds vad 

leku gSaA 

1- (d) fyiksizksVhu mikip; ls lacaf/kr fodkjksa dh O;k[;k 

dhft,A  6 
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 ([k) dksysLVsjkWy la'ys"k.k ds pj.kksa dks foLrkj ls 

crkb,A  8 

2- (d) bZ- dksykbZ esa fXyljks&QkWLQksfyfiM ds la'ys"k.k ds 

ckjs esa le>kb,A 7 

 ([k) lqiksf"kr voLFkk esa gksus okys mikip;h cnykoksa dh 

O;k[;k dhft,A 7 

3- (d) mu dkjdksa ds ckjs esa crkb, tks ATP ds mPp 

QkWLQksfjy lewg LFkkukarj.k {kerk ds fy, mÙkjnk;h 

gSaA   4 

 ([k) mnkgj.k lfgr mikip; ds lfiZy vkSj pØh; ekxZ 

esa varj crkb,A 5 

 (x) vok;oh; ifjfLFkfr;ksa esa ySDVsV ds fy, ikb#osV ds 

vip;u dh O;k[;k dhft,A 5 
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4- (d) dksjh pØ dh lfp= O;k[;k dhft, vkSj bldk 

egRo crkb,A 7 

 ([k) XykbvkWDlhysV ekxZ dh O;k[;k dhft,A 7 

5- (d) Xykbdksykbfll vkSj Xywdksfuvkstsusfll ds 

vYidkfyd fofu;eu dks le>kb,A 7 

 ([k) Xykbdkstu dh lajpuk dh lfp= O;k[;k dhft,A 

Xykbdkstu dss 'kkf[kr laxzg cgqyd :i esa gksus ds 

D;k ykHk gSa \ 7 

6- (d) dkcksZgkbMªsV mikip; ds izeq[k ekxZ fdl izdkj ls 

ijLij tqM+s gq, gSa \ 7 

 ([k) CAM ekxZ dh O;k[;k dhft,A bldk D;k egRo   

gS \   7 

7- (d) olh; vEyksa ds Mh uksoks tSola'ys"k.k dks foLrkj& 

iwoZd le>kb,A 10 

 ([k) olh; vEyksa dk ijkWDlhlkseh  -vkWDlhdj.k D;k 

gksrk gS \ 4 
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8- (d) lar`Ir olh; vEyksa ds  -vkWDlhdj.k dh O;k[;k 

dhft,A  8 

 ([k) (i) dhVksu ckWMht ds mi;ksx ij ,d fVIi.kh 

fyf[k,A 4 

  (ii) nks ifjfLFkfr;ksa ds uke crkb, ftuds 

ifj.kkeLo:i dhVksfll gksrk gSA 2 

× × × × × 

 

 

 

 

 

 

 

 

 

 

 

 


